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Model Question Paper of RSCIT Examination
Time :1 Hour Maximum Marks :70
All Questions are Compulsory and carry equal marks

1. Keeping email addresses in mind, the correct option is:

A. they must always contain @ symbol

B. they can never contain blank spaces

C. bothaandb

D. none of the above

1- éﬁaﬁaﬁr%mﬁwﬁg&m@rﬁw%:

A. 33 AT @ TIeg g a1few

B. 3AH sl Wrell T AT & dehdl

C. a 3R b g@r

D. 3UgFd H ¥ F$ off oFEh

2. When saving a document, a difference between “Save” and “Save As” is:
A. No difference

B. 'Save'will save a file that has already been assigned a name and saved location
C. 'Save As..."allows one to change the name and saved location for the file
D. Bothb&c

2- SEdIdell & A9 Hld TAY, “Va” i V9 v ;IR

A. A5 T 3R =1gr ¢

B. UT 3H GFAAST &l IS I Sl Ugol U & WRehy # FIda ¢
C. ‘BF UsT gH o 3R TU deoldl &I AT ST &

D. b 3R ¢ g=r

3. Which of the following is not the font-style in MS Word:

A. Subscript

B. Bold

C. Regular

D. ltalics

www.rajteachers.com



o0 ® >

onwp e

o0 ® >

oOnw» w

o0 ® >

oOnwro

o0 ® >

Oonw>»N

SoIH W il AT HIUC TCBel @ a5 H Al &
qafesce

s

TR

S

seforad

Ctrl + P is used for:

Closing the word file

Closing the computer system
Printing a document

Copy paste a document

Ctrl + P &t foham ST &
ds HISA &l 9G e & ol
FYET P 9 e & faw
GEdTaST I BT & foIT
GEATAST &l HIAT IFC el & T

While drawing a table, shape of the mouse pointer (in MS Word ) appears to be like

Pencil

Remains the same
Straight Line
Square shape

I ST GAT (@ g5 #), AB3E Uigel & orar fe@rs &ar &-
i

ugel SIT § W@l
el @
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Which of the following file format cannot be added to a PowerPoint presentation:
Jpeg

.htm

.gif

.wav

giaidise Yl H Hid T BISeT WRYT oTg] SiisT oI T o

-Jpeg
.htm

.gif
.wav

Which keys combination is used to insert a new slide in a PowerPoint presentation:
Ctrl + X
Ctrl + N
Ctrl+ M

Ctrl+2 .
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Ctrl + X
Ctrl+ N
Ctrl+ M
Ctrl+ 7

The expanded form of the abbreviation ‘ASCII’ is:
American Social Code for Information Interchange
American Standard Code for Information Interchange
Australian Social Code for Information Interchange
Apple Standard Code for Information Interchange

‘ASCII’ T TIEATRT &9 &-
3TAREA AR FIS BR SHRR STl
TE AT AR IS B SRR Sl

In a modern keyboard the number of function keys are:
8

10

11

12

YA Fofuee (B <NS) H heRle HIsl H FHel T&AT gl &-
8
10
11
12

. GUI stands for:

General User Input
General Unused Input
Graphical User Interface
General User Interface

gfeed ¥9 ‘GUI' &1 R_EaRa &9 § -
gl el q‘\\J‘N $u'|tlac

SRl 3eA-JFs SeIYC
Ithehel YN STHH
STeel Foil SeThy

. Internet Explorer is:

Web Browser
Calculator
Music Player
Chat Room

www.rajteachers.com



11-
A.

IS S

Srclele THCAT &
a9 S3oR
heThelet

Fgioleh TolaT

de &

. The abbreviation ‘DIMM’ stands for:

Dual Inline Multimedia Model
Dual Interchange Memory Model
Dual Inline Memory Module
Divided Inline Multimedia Model

afecd ¥ DIMM’ &7 faEaiRd &9 § :
337el Gol-cllgel Hodl HITSAT AlSe
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f3arsss sa-aga A Aifsar Arsa

. In computer images ‘BMP’ stands for:

Bitmap

Bit magnified Pixels
British Made Pixels
Biaxial Magnified Pixels

FYe H BMP BT (images) T A gidr &
foecdT

foe #Afawuss Reded
fofeer A Redew
a5 vfeage Affawuss Redew
. Which of the following does not represent an I/O device:
Speaker
Plotter
Monitor
ALU
geTH @ el 3AYE/3M3CYC YiFd oTel &
TR
HAifeleT
T T g

. ‘HDMI’ port stands for

High Definition Multimedia Interface
High Definition Memory Interface
High Definition Memory Interchange
High Definition Markup Interface
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16. ‘TCP/IP’ stands for-

A. Transmission Control Protocol / Internet Protocol

B. Transfer Control Protocol / Intranet Protocol

C. Transmission Commission Protocol / Internet Protocol
D. Transfer Control Protocol / Internet Permission

“TCP/IP’ T TATATRA &7 § .

A. TAAAA e Welhid/zele Tethrd
B. IS FHcld WeIhlal/3eTAe Welhiol
C. AT FHIRAT Nelhidd/SeIIe Nelhiel
D. TIAWY Sheld Welhid/selae TR

[y
@

17. To permanently delete a file/folder in windows environment, one uses:
A. Shift + Del

B. Alt+ Del

C. Ctrl+ Del

D. None of the above

17- faSIST & fohell WIge IT Blest &l gAT & v fAgE |, 88 SEaATT aXd &
A. Shift + Del

B. Alt+ Del

C. Ctrl + Del

D. None of the above

18. To rename a file, the function key is used-
A. F1
B. F2
C. F3
D. None of the above

18- el WISl T ATH deolel & foIU, TH__ TerIeT ol Pl SEIHTS il &
A. F1
B. F2
C. F3
D. 3WFd # ¥ FIS AL

19. Which is/are the function/s of Operating System:
A. Memory Management

B. Process Management

C. File Management

D. All of the above
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. In Binary System will represent the equivalent of 8

0100
0010
1000
0001

. Pendrive is used for:

Storage purposes
Computation Purposes
Power Backup

None of the above

U 3189 STAATA &I ST &
HUSRUT &
IOTAT &

Rl 3% 31 3
3T A @ IS AGT

. Bar Code Reader is a:

Input Device
Output Device
Processing Device
Storage Device

IR &5 =T &
i

HBTYE i
THEROT JfFd
HUSRUT IfFd

. HTML stands for:

Hyper Text Markup Language
Hyper Text Management Language
Hyper Textual Management Language

Hyper Transactions Markup Language
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23- ‘HTML & ¥R &:

a.
b.
C.

d.

g CFHEC HATRT ofader
g e HAsHT alader
IS CHFELIS Aot oot

EISW TIAoiehele] HTh3T oldda]

24. Tim Berners Lee gave the concept of :

A.

B
C.
D

WWW
HTML
Semantic Web

. All of the above

24- foA SN @ f&am arar gy ¢

A.
B

C.
D

25. Which one of the following is not an example of Indian Supercomputer:

A.

B
C.
D

25.

A.
B

C.
D

26.

A.

B
C.
D

WWw
HTML
fsifes a9
g o

Param
Anurag
AS 400

None of the above

fAefai@a & & @l dRAT IR Y AT 3GB0T gl &
wH
3T

S

AS400
3T H @ &S 7gT

The Abbreviation ‘SATA’ stands for —

Serial Advancement Technology Attachment
Simple Advanced Technology Attachment
Serial Advanced Technology Attachment
Serial Advanced Terminology Attachment

26 SATA T AEART &9 &

A.

IS S

oo w®>

AUer TsaiEs TFATAIS cTHT
NI TsaTs TFATclioll 3eTHE
NI TsarEs efAAdle 3¢THe

. The expanded form of ‘MODEM’ is -

Modulation Demodulation
Modulation Deactivation
Modulation Decomposition
Modulation Disintegration
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27- ‘MODEM’ &7 faEar &
A. HATSYEIR SIATSIRIRNT
B. AISYRIRI Sufdeaers
C. HAISFRRN fBharsiieret
D. AR B

28. The expanded form of ‘MICR’ is -

A. Magnetic Ink Character Recognition

B. Magnetic Inset Character Recognition

C. Magnetic Input Character Recognition

D. Magnetic Innovative Character Recognition

28. ‘MICR' &T faFar & -
A. HIAEH §F FlFe YDA
B. I AT HFe YA
C. AIAIF FAYC FFT IR ToAA
D. HIGICIH SATAUAT FIFEL IhITIeAueT

29- Which key deletes the character (s) to the left side of the cursor-

A. End

B. Backspace
C. Delete

D. Home

20. FET F TR IR & IR T @ Folt & e &
. T8

. 3w

fSelie

&

o0 ® p

30. In Ms Excel programme the width of Column and the height of row are measured in:

a. Inches
b. Pixels
c. Centimeters
d. Percentage

30- UHUH Tadd WA H @Er § disg iR ofed i oears v S &
A 3T
B. RFder
C. HrHeX
D. GIHeSA

31. To select the complete content of a document, we use:

A. Ctrl+A

B. Ctrl+2Z

C. Ctrl+C

D. Ctrl+U )
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31- Ueh SEdEAT & T3 el & 9afad i & O g7 9aer & §

Ctrl+ A
Ctrl+2
Ctrl+C
Ctrl+U

o0 wp

32. Which is not the valid version of MS Office:
MS Office 97

MS Office 2003

MS office 2005

MS Office 2007

o0 wp

32. ST O dlT AT W TR &7 J8 FTHOT 74T &
AU Hifthw 97
AU ifhE 2003
AU f%RE 2005
AU HifE 2007

o0 ® >

33. Which of the following function keys activates the spelling and grammar check:
A. F5

F7

F2

Shift + F7

oo w

33. 38 ¥ i WY 1T adar 3R arHIor fr FT Y TR &
F5

F7

F2

Shift + F7

o0 ® >

34. QWERTY is associated with ............
Light Pen

Mouse

Key board

Scanner

oOn®mp»
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34. ‘QWERTY (F3¢f) ’ TFTST ¢ :
A. oS U
B. #I3H
c. #ras
D. ThelX

35. The expansion of ‘PCl’ is ....
A. Peripheral Component Interconnect
B. Para Component Interconnect
C. Personal Component Interconnect
D. Personnel Component Interconnect

35. ‘PCI' T TAEATRAT ¥T § ...
A. IRPTT FUTC SPATE
B. IRT Fulic Secipaiae
C. U Huleic Selehaidc
D. Ty&feel uleic Scaaide

www.rajteachers.com



Answer Key

Q. No Answer Q.No Answer
1 C 19 D
2 D 20 C
3 A 21 A
4 C 22 A
5 A 23 A
6 B 24 A
7 C 25 C
8 B 26 C
9 D 27 A
10 C 28 A
11 A 29 B
12 C 30 A
13 A 31 A
14 D 32 C
15 A 33 B
16 A 34 C
17 A 35 A
18 B

www.rajteachers.com



